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Question1:-Find out the incorrectly spelled word
A:-Accommodate
B:-Tresspass
C:-Privilege
D:-Perseverance
Correct Answer:- Option-B
Question2:-Find out the incorrectly spelled word
A:-Conscientious
B:-Bureaucracy
C:-Millenium
D:-Exaggerate
Correct Answer:- Option-C
Question3:-Find out the incorrectly spelled word
A:-Recieve
B:-Desiccate
C:-Exquisite
D:-Imminent
Correct Answer:- Option-A
Question4:-Find out the incorrectly spelled word
A:-Grateful
B:-Rhythm
C:-Liaison
D:-Acquaintence
Correct Answer:- Option-D
Question5:-Find out the incorrectly spelled word
A:-Indispensable
B:-Embarass
C:-Discrepancy
D:-Acquire
Correct Answer:- Option-B
Question6:-Choose the word nearest in meaning to the word given in capital letters: CIRCUMSPECT
A:-Polite
B:-Delicate
C:-Reckless
D:-Cautious
Correct Answer:- Option-D
Question7:-Choose the word nearest in meaning to the word given in capital letters: EQUANIMITY
A:-Strict
B:-Composure
C:-Silent
D:-Symmetry
Correct Answer:- Option-B
Question8:-Choose the word nearest in meaning to the word given in capital letters: PUGNACIOUS
A:-Talented
B:-Mediocre
C:-Aggressive
D:-Impulsive
Correct Answer:- Option-C
Question9:-Choose the word nearest in meaning to the word given in capital letters: ELOQUENT
A:-Expensive
B:-Mysterious
C:-Anxious
D:-Articulate
Correct Answer:- Option-D
Question10:-Choose the word nearest in meaning to the word given in capital letters: INTRANSIGENT
A:-Flexible
B:-Transparent
C:-Stubborn
D:-Unpleasant
Correct Answer:- Option-C
Question11:-Choose the word nearest in meaning to the word given in capital letters: OSTENTATIOUS
A:-Showy
B:-Modest
C:-Ambiguous
D:-Selfish
Correct Answer:- Option-A
Question12:-Choose the word nearest in meaning to the word given in capital letters: INDUBITABLE
A:-Difficult
B:-Inflexible
C:-Undoubted
D:-Fierce
Correct Answer:- Option-C
Question13:-Convert the sentence given in the question into Indirect speech.

Sara said to her mother, “How do you do all these things together?"
A:-Sara asked her mother how she do all those things together.
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B:-Sara asked her mother how she can do all these things together.
C:-Sara asked her mother how she did all those things together.
D:-Sara asked her mother how did she do all those things together.
Correct Answer:- Option-C

Question14:-Convert the sentence given in the question into Indirect speech.

John said, “I am going to the store.”
A:-John said that he is going to the store.
B:-John said that he will go to the store.
C:-John said that he was going to the store.
D:-John said that he goes to the store.
Correct Answer:- Option-C
Question15:-Convert the sentence given in the question into Indirect speech.

They said, “We won the game!”
A:-They exclaimed that they had won the game.
B:-They said that they won the game.
C:-They exclaimed that they won the game.
D:-They said that they had won in the game.
Correct Answer:- Option-A
Question16:-Convert the sentence given in the question into Indirect speech.

Sheila said, “l don't like pizza.”
A:-Sheila said that she do not like pizza.
B:-Sheila said that she did not like pizza.
C:-Sheila said that she has not liked pizza.
D:-Sheila said that will not like pizza.
Correct Answer:- Option-B
Question17:-Convert the sentence given in indirect speech into direct speech.

He asked if | wanted to go to the movies.
A:-He asked, “Do you want to go to the movies?”
B:-He asked, “Will you want to go to the movies?”
C:-He asked, “Did you want to go to the movies?”
D:-He asked, “Would you go to the movies?”
Correct Answer:- Option-A
Question18:-A sentence is divided into 3 parts. Choose the incorrect part. If no error in the sentence, choose 'D'
A:-With a frown on his face
B:-the teacher ask the student
C:-to leave the room
D:-No error
Correct Answer:- Option-B
Question19:-A sentence is divided into 3 parts. Choose the incorrect part. If no error in the sentence, choose 'D'
A:-The company announced
B:-a new strategy to improve
C:-the product's saleability
D:-No error.
Correct Answer:- Option-D
Question20:-A sentence is divided into 3 parts. Choose the incorrect part. If no error in the sentence, choose 'D'
A:-She looked at herself
B:-in the mirror and
C:-admired at her reflection
D:-No error
Correct Answer:- Option-C
Question21:-A sentence is divided into 3 parts. Choose the incorrect part. If no error in the sentence, choose 'D'
A:-The dog wagged its tail
B:-happily and jumped
C:-onto its owner's laps
D:-No error
Correct Answer:- Option-C
Question22:-A sentence is divided into 3 parts. Choose the incorrect part. If no error in the sentence, choose 'D'
A:-I need to buy
B:-some fresh vegetable
C:-for tonight's dinner
D:-No error
Correct Answer:- Option-B
Question23:-A sentence is divided into 3 parts. Choose the incorrect part. If no error in the sentence, choose 'D
A:-He took out a book
B:-from his bag
C:-and started reading on it
D:-No error
Correct Answer:- Option-C
Question24:-Choose the nearest one word from the alternatives given below: A fear of heights
A:-Acrophobia
B:-Claustrophobia
C:-Arachnophobia
D:-Hydrophobia
Correct Answer:- Option-A
Question25:-Choose the nearest one word from the alternatives given below: A small group of people with shared interests or tastes
A:-Crew
B:-Assembly
C:-Clique
D:-Congregation



Correct Answer:- Option-C
Question26:-Find the nearest one-word from the alternatives given below: A feeling of intense anger and hostility
A:-Apathy
B:-Elation
C:-Contentment
D:-Rage
Correct Answer:- Option-D
Question27:-Find the nearest one-word from the alternatives given below: A brief and concise statement expressing a general truth
A:-Paradox
B:-Metaphor
C:-Simile
D:-Aphorism
Correct Answer:- Option-D
Question28:-Find the nearest one-word from the alternatives given below: A feeling of great joy and excitement
A:-Euphoria
B:-Melancholy
C:-Indifference
D:-Anxiety
Correct Answer:- Option-A
Question29:-Identify the meaning of the idiom or phrase in capitals from the choices. She was ON CLOUD NINE after receiving her job offer.
A:-Feeling extremely happy and ecstatic
B:-Feeling disappointed and upset
C:-Feeling confused and uncertain
D:-Feeling tired and exhausted
Correct Answer:- Option-A
Question30:-Identify the meaning of the idiom or phrase in capitals from the choices. The professor HIT THE NAIL ON THE HEAD with his insightful analysis.
A:-Completely miss the point
B:-Make a loud noise
C:-Speak loudly and confidently
D:-Make an accurate statement or assessment
Correct Answer:- Option-D
Question31:-Find the nearest one-word from the alternatives given below: A person who is skilled in many areas or fields
A:-Specialist
B:-Novice
C:-Polymath
D:-Dilettante
Correct Answer:- Option-C
Question32:-Identify the meaning of the idiom or phrase in capitals from the choices. The new employee was THROWN IN AT THE DEEP END on his first day.
A:-Given an easy and simple task
B:-Provided with all the necessary resources
C:-Given a challenging or difficult task with little guidance
D:-Allowed to take a break from work
Correct Answer:- Option-C
Question33:-ldentify the meaning of the idiom or phrase in capitals from the choices. She had to FACE THE MUSIC after making a mistake at work.
A:-Listen to music as a source of comfort
B:-Face the consequences for one's actions
C:-Perform in front of an audience
D:-Resolve a conflict through peaceful means
Correct Answer:- Option-B
Question34:-Identify the meaning of the idiom or phrase in capitals from the choices. He spilled the bean SPILLED THE BEANS about the surprise party.
A:-Accidentally dropped some beans
B:-Shared a secret or confidential information
C:-Cooked a delicious meal
D:-Created a mess
Correct Answer:- Option-B
Question35:-Pick out the best filler which can complete the given sentence correctly. She plays the piano as if she.............c..coooii
A:-Is a professional pianist
B:-Played the piano professionally
C:-Plays the piano professionally
D:-Is professional pianist
Correct Answer:- Option-A
Question36:-Pick out the best filler which can complete the given sentence correctly.
The students studied so diligently that they................co.coeeiennnn
A:-May have passed the exam
B:-Passed the exam
C:-Passing the exam
D:-Had passed the exam
Correct Answer:- Option-B
Question37:-Pick out the best filler which can complete the given sentence correctly.

He spoke so loudly that I...........cc.oviiiiiiiien,
A:-Cannot hear him
B:-Was hearing him
C:-Could hear him
D:-Should hear him
Correct Answer:- Option-C
Question38:-Find the correct preposition: She is allergic seafood.
A:-On
B:-With
C:-To
D:-At
Correct Answer:- Option-C



Question39:-Find the correct preposition: He apologized his mistake.
A:-For
B:-On
C:-To
D:-By
Correct Answer:- Option-A
Question40:-Find the correct preposition: The book is written John Green.
A:-By
B:-In
C:-Of
D:-At
Correct Answer:- Option-A
Question41:-Find the correct preposition She is interested learning foreign languages.
A:-On
B:-With
C:-In
D:-At
Correct Answer:- Option-C
Question42:-Find the correct preposition He is responsible the project's success.
A:-For
B:-In
C:-With
D:-At
Correct Answer:- Option-A
Question43:-We to the new restaurant for dinner last night.
A:-Were going
B:-Went
C:-Have gone
D:-Will go
Correct Answer:- Option-B
Question44:-The bird away when it saw the approaching predator.
A:-Flew
B:-Was flying
C:-Has flown
D:-Will fly
Correct Answer:- Option-A
Question45:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals.

CACOPHONY
A:-Harmony
B:-Discord
C:-Enormous
D:-Melancholy
Correct Answer:- Option-A
Question46:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals.
QUERULOUS
A:-Tolerant
B:-Pessimistic
C:-Painful
D:-Ambitious
Correct Answer:- Option-A
Question47:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals.

PERNICIOUS
A:-Harmless
B:-Ridiculous
C:-Destructive
D:-Beneficial
Correct Answer:- Option-D
Question48:-Find out the word which is nearest to the opposite in meaning to the key word given in capitals.

EXACERBATE
A:-Alleviate
B:-Incriminate
C:-Aggravate
D:-Vibrant
Correct Answer:- Option-A
Question49:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R, and S to construct a logical sentence:

The concert

P: that | have ever attended

Q: was the most amazing

R: with incredible performances
S: by talented musicians

The proper sequence should be:
A:-SQRP
B:-RPSQ
C:-PRSQ
D:-RSQP
Correct Answer:- Option-D



Question50:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R, and S to construct a logical sentence:
She

P: to visit the historical sites
Q: and immerse herself

R: traveled to a foreign country
S: in the local culture

The proper sequence should be:
A-RQPS
B:-QSRP
C:-RPSQ
D:-SQRP
Correct Answer:- Option-A
Question51:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R, and S to construct a logical sentence:

The team

P: strategies for the game

Q: discussed various

R: in order to improve their performance
S: during the halftime break

The proper sequence should be:
A-PSRQ
B:-QSPR
C:-QPRS
D:-SRPQ
Correct Answer:- Question Cancelled
Question52:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R, and S to construct a logical sentence:

The novel

P: captivated readers

Q: with its intriguing plot

R: and well-developed characters
S: and became a bestseller

The proper sequence should be:
A-QRPS
B:-SRPQ
C:-QSRP
D:-RSPQ
Correct Answer:- Option-A
Question53:-In the question, a sentence has been jumbled. Choose the proper sequence which are labelled P, Q, R, and S to construct a logical sentence:

The students

P: to participate in the competition
Q: were encouraged

R: and showcase their talents

S: by the school faculty

The proper sequence should be:
A:-QSRP
B:-SRPQ
C:-RPQS
D:-QPSR
Correct Answer:- Question Cancelled
Question54:-Read the following passage and answer the question by choosing among the four alternatives given:

The year was 1888, and the streets of London were plagued by a series of gruesome murders. The infamous killer, Jack the Ripper, struck fear into the hearts of the
city's residents as he preyed upon vulnerable women in the dimly lit alleys of Whitechapel. The murders were characterized by their brutality, with the victims being
mutilated in a manner that suggested a deep-seated rage and a twisted sense of pleasure for the perpetrator. Despite the efforts of Scotland Yard and a fervent public
outcry, Jack the Ripper managed to elude capture, leaving behind a trail of unsolved mysteries and countless theories about his true identity. Over the years, numerous
suspects have emerged, ranging from ordinary citizens to prominent figures in society. The case has fascinated criminologists, historians, and amateur sleuths alike, who
have tirelessly analyzed the available evidence, examined witness testimonies, and delved into the historical context of the time. Even to this day, the identity of Jack the
Ripper remains one of the most enigmatic and perplexing mysteries in criminal history. Who was the man behind the grisly crimes? What drove him to commit such
heinous acts? Will we ever uncover the truth behind Jack the Ripper's reign of terror?

Why is the case of Jack the Ripper considered one of the most perplexing mysteries in criminal history?
A:-The murders occurred in various locations simultaneously.
B:-The killer was never identified or captured.
C:-The victims were all wealthy individuals.
D:-The case involved complex forensic evidence.
Correct Answer:- Option-B
Question55:-Read the following passage and answer the question by choosing among the four alternatives given:

In the distant land of Euphoria, a realm shrouded in magic and mystery, a prophecy has long foretold the arrival of a chosen hero. According to ancient lore, this hero
possesses extraordinary powers and is destined to save the kingdom from impending doom. The prophecy speaks of a perilous quest that the hero must undertake,
facing formidable challenges and overcoming insurmountable odds. Legends whisper of a hidden artifact, known as the Crystal of Enlightenment, which holds the key to
unlocking the hero's true potential. It is said that the Crystal is guarded by mythical creatures and hidden deep within the treacherous Abyssal Caverns. Many have



sought the Crystal, but none have returned. The fate of Euphoria hangs in the balance as the kingdom eagerly awaits the emergence of the chosen hero, the one who
will bring light to the encroaching darkness.

What is the main objective of the chosen hero in the prophecy?
A:-To obtain the Crystal of Enlightenment.
B:-To explore the treacherous Abyssal Caverns.
C:-To uncover the secrets of the mythical creatures.
D:-To save the kingdom of Euphoria.
Correct Answer:- Option-D
Question56:-Read the following passage and answer the question by choosing among the four alternatives given:

In the ever-evolving world of business, competition is fierce, and companies are constantly seeking strategies to gain a competitive edge. One such strategy is
innovation. Innovation is the lifeblood of business growth, as it allows companies to develop groundbreaking products, services, and processes that meet the changing
needs and desires of customers. Innovative companies understand that standing still is not an option; they actively foster a culture of creativity and exploration. They
encourage employees to think outside the box, take calculated risks, and embrace new ideas. These companies invest in research and development, allocate resources
for experimentation, and collaborate with external partners to harness the power of collective intelligence. By embracing innovation, companies can stay ahead of the
curve, seize new opportunities, and create a sustainable advantage in the dynamic marketplace.

Why is innovation important for businesses?
A:-To create a sense of competition among employees.
B:-To maintain a static and unchanging product lineup.
C:-To meet the evolving needs of customers.
D:-To avoid collaborating with external partners
Correct Answer:- Option-C
Question57:-Read the following passage and answer the question by choosing among the four alternatives given:

The Paris Agreement, signed in 2015, represents a landmark event in the realm of international relations and environmental policy. It was a global effort to address the
pressing issue of climate change and mitigate its impacts. The agreement aimed to limit global warming to well below 2 degrees Celsius above pre-industrial levels and
to pursue efforts to limit the temperature increase to 1.5 degrees Celsius. Under the Paris Agreement, countries committed to implementing measures to reduce
greenhouse gas emissions, adapt to the impacts of climate change, and provide financial assistance to developing nations in their climate actions. The agreement
emphasized the principle of common but differentiated responsibilities, recognizing that developed countries should take the lead in emission reductions and provide
support to developing countries. The Paris Agreement garnered widespread international support, with 197 parties signing and 191 ratifying the agreement. It symbolizes
a collective global effort to address the existential threat of climate change and marks a significant step forward in international cooperation for a sustainable future.

What does the Paris Agreement emphasize in its approach to climate change?
A:-Sustainable economic growth and development.
B:-Equal contribution from all nations.
C:-Common but differentiated responsibilities.
D:-Strict regulations and penalties.
Correct Answer:- Option-C
Question58:-Read the following passage and answer the question by choosing among the four alternatives given:

The Olympic Games, held every four years, bring together athletes from around the world in a celebration of sport and unity. The origins of the modern Olympics can be
traced back to ancient Greece, where athletic competitions were held to honor the gods. Today, the Olympic Games encompass a wide range of sports, from track and
field to swimming, gymnastics, and beyond. The Games provide a platform for athletes to showcase their skills, determination, and sportsmanship on an international
stage. Athletes spend years honing their craft, pushing the boundaries of human potential, and striving for excellence. The Olympic Games foster a spirit of camaraderie,
where competitors from different nations come together in friendly rivalry, promoting peace and understanding through the universal language of sports. The excitement,
passion, and memorable moments created during the Olympic Games have captivated audiences for decades, inspiring generations to pursue their athletic dreams and
embrace the values of fair play, perseverance, and respect.

What is the primary objective of the Olympic Games?
A:-To honor the gods of ancient Greece.
B:-To bring athletes from around the world together in friendly competition.
C:-To achieve worldwide fame and recognition for participating athletes.
D:-To promote commercial interests and generate revenue.
Correct Answer:- Option-B
Question59:-Identify the meaning of the idiom or phrase in capitals from the choices. She had to BITE THE BULLET in the current scenario.
A:-Literally bite on a bullet
B:-Avoid confronting the fears
C:-Overcome fears and face a difficult situation
D:-Seek help from others to handle fears
Correct Answer:- Option-C
Question60:-Identify the meaning of the idiom or phrase in capitals from the choices. He always KEEPS HIS CARDS CLOSE TO THE CHEST.
A:-Keeps his plans and intentions secret
B:-Plays cards strategically
C:-Reveals his plans and intentions openly
D:-Shows his emotions easily
Correct Answer:- Option-A
Question61:-Who was conferred with the Highest Civilian honour of Kerala, "Kerala Jyothi" recently?
A:-Mammooty
B:-MT Vasudevan Nair
C:-K J Yesudas
D:-Kochousep Chitilappilly
Correct Answer:- Option-B
Question62:-'Vayu Link' communication system which helps pilots to deal with adverse conditions by maintaining the communication network with the base station has
been developed by?
A:-ISRO
B:-Indian Air Force
C:-Hindustant Aeronautics Limited
D:-NTRO
Correct Answer:- Option-B
Question63:-Who has been formally declared as the new Monarch of Britiain recently?
A:-Charles I
B:-George IX
C:-Charles VI



D:-Edward VIl
Correct Answer:- Option-A
Question64:-India’s first semi conductor manufacturing plant will be opened in
A:-Telengana
B:-Kerala
C:-Maharashtra
D:-Guijarat
Correct Answer:- Option-D
Question65:-Which panchayat in Kerala was declared to be the first fully digitally literate panchayat in India?
A:-Chavara
B:-Irikkur
C:-Pullampara
D:-Vijayapuram
Correct Answer:- Option-C
Question66:-W hich organization was founded by Gopal Krishna Gokhale?
A:-Servants of India Society
B:-Poona Sarvajanik Sabha
C:-Bombay Presidency Association
D:-Hindustan Socialist Republican Association
Correct Answer:- Option-A
Question67:-Which Mughal emperor was known for his religious tolerance and the establishment of a new religion called Din-i-llahi?
A:-Jahangir
B:-Akbar
C:-Shah Jahan
D:-Aurangzeb
Correct Answer:- Option-B
Question68:-What is the name of the famous temple built during the Vijayanagara Empire?
A:-Meenakshi Temple
B:-Brihadeeswarar Temple
C:-Hoysaleswara Temple
D:-Virupaksha Temple
Correct Answer:- Option-D
Question69:-Who among the following played a key role in persuading Mahatma Gandhi to initiate a movement supporting the Khilafat?
A:-Abdul Ghaffar Khan
B:-Shaukat Ali
C:-Syed Ahmed Bareili
D:-Mohammad Ali Jinnah
Correct Answer:- Option-B
Question70:-Who was the first female Cabinet Minister of India?
A:-Sarojini Naidu
B:-Amrit Kaur
C:-Sucheta Kriplani
D:-Vijaylaxmi Pandit
Correct Answer:- Option-B
Question71:-At which location did Buddha deliver his inaugural sermon?
A:-Sarnath
B:-Bodh-Gaya
C:-Rajagriha
D:-Kapilavastu
Correct Answer:- Option-A
Question72:-What was the objective of the Reformation movement that occurred in the 16th century Europe?
A:-It aimed to challenge the authority of King Henry VIII.
B:-It sought to strengthen the Church's control over Rome.
C:-It aimed to rebel against the Pope and the issuance of indulgances.
D:-It aimed to revive and reform the art and literature of the 16th century.
Correct Answer:- Option-C
Question73:-Sutlej river originates from which of the following lakes?
A:-Lake Mansarovar
B:-Pangong Lake
C:-Ebi Lake
D:-Lake Rakshastal
Correct Answer:- Option-D
Question74:-Sagar Matha is another name of which of the following mountain Peak?
A:-Nanda Devi
B:-Kamet
C:-Mt.Everest
D:-Annapurna
Correct Answer:- Option-C
Question75:-Which of the following is a cold desert in India?
A:-Thar Desert
B:-Kutch Desert
C:-Spiti Valley Desert
D:-Deccan Thorn Scrub Forests
Correct Answer:- Option-C
Question76:-The Dead Sea, known for its high salt content, is bordered by which two countries?
A:-Egypt and Sudan
B:-Israel and Jordan
C:-Turkey and Greece
D:-Iran and Iraq
Correct Answer:- Option-B
Question77:-Which of the following is the largest gulf in the world?
A:-Persian Gulf



B:-Gulf of Mexico
C:-Gulf of Carpentaria
D:-Gulf of Mannar
Correct Answer:- Option-B
Question78:-Which district in Kerala is referred to as the "Land of Looms and Lores"?
A:-Malappuram
B:-Kozhikode
C:-Thrissur
D:-Kannur
Correct Answer:- Option-D
Question79:-Progress in increase in fisheries production in India was termed
A:-White revolution
B:-Green revolution
C:-Blue revolution
D:-Yellow revolution
Correct Answer:- Option-C
Question80:-Which sector has the highest contribution to India's Gross National Product (GNP)?
A:-Tertiary sector
B:-Public sector
C:-Primary sector
D:-Secondary sector
Correct Answer:- Option-A
Question81:-Which function of money facilitates the expression of the exchange ratio of goods by serving as a common denomination?
A:-Medium of exchange
B:-Measure of value
C:-Store of value
D:-Standard of deferred payments
Correct Answer:- Option-B
Question82:-Which category of poor people keep moving up and down the poverty line?
A:-Churning poor
B:-Transient poor
C:-Always poor
D:-Occasionally poor
Correct Answer:- Option-A
Question83:-A regressive tax is a tax that follows which of the following patterns as an individual's income increases:
A:-Charged at a decreasing rate
B:-Charged at an increasing rate
C:-A fixed percentage of the individual's income
D:-None of these
Correct Answer:- Option-A
Question84:-Which of the following is an indirect tax?
A:-Wealth tax
B:-Excise tax
C:-Income tax
D:-None of these
Correct Answer:- Option-B
Question85:-Who achieved the distinction of being the first person to orbit the Earth?
A:-Yuri Gagarin
B:-John Glenn
C:-Valentina Tereshkova
D:-Neil Armstrong
Correct Answer:- Option-A
Question86:-What was the spinning jenny, one of the earliest innovations in the Industrial Revolution?
A:-A device for storing energy
B:-A device for making cloth
C:-A steam engine
D:-A water pump
Correct Answer:- Option-B
Question87:-What is the term used to describe the process, discovered by Goodyear, of adding sulfur to heated rubber?
A:-Oxidation
B:-Polymerization
C:-Vulcanization
D:-Distillation
Correct Answer:- Option-C
Question88:-What is the general type of mammal that gives birth to undeveloped young that are kept in pouches?
A:-Marsupials
B:-Primates
C:-Rodents
D:-Cetaceans
Correct Answer:- Option-A
Question89:-What is the primary objective of the Artemis Il mission planned by NASA?
A:-Conduct scientific experiments on the Mars surface.
B:-Establish a permanent human presence on the Mars.
C:-Perform a crewed Moon landing.
D:-Collect samples for analysis from the lunar South Pole.
Correct Answer:- Option-C
Question90:-What is the name of the technology that allows for the creation of three-dimensional objects using a digital model?
A:-Neural Networks
B:-Additive Manufacturing
C:-Swarm Robotics
D:-Artificial Intelligence
Correct Answer:- Option-B



Question91:-What is the name of the force that holds the nucleus of an atom together?
A:-Electromagnetic force
B:-Gravitational force
C:-Strong nuclear force
D:-Weak nuclear force
Correct Answer:- Option-C
Question92:-The undersea exploration submersible named Titan operated OceanGate Expeditions went missing in the depth of
A:-South Atlantic Ocean
B:-South Pacific Ocean
C:-North Atlantic Ocean
D:-North Pacific Ocean
Correct Answer:- Option-C
Question93:-Which river is at the center of the ongoing dispute between Afghanistan and Iran?
A:-Indus River
B:-Tigris River
C:-Euphrates River
D:-Helmand River
Correct Answer:- Option-D
Question94:-Dick Fosbury was an American athlete who changed the sport of forever with his unconventional technique
A:-Long Jump
B:-High Jump
C:-Pole Vault
D:-Gymnastics
Correct Answer:- Option-B
Question95:-Who has been recently selected as the new World Bank President?
A:-Ajay Banga
B:-David Malpass
C:-Indermit Gill
D:-Geeta Gopinath
Correct Answer:- Option-A
Question96:-What is the PM SVANIDHI scheme?
A:-A financial assistance program for street vendors
B:-A scholarship program for students from economically disadvantaged backgrounds
C:-A housing scheme for urban slum dwellers
D:-A healthcare initiative for rural areas
Correct Answer:- Option-A
Question97:-In which district of Kerala is the tribal heritage village of En Ooru located?
A:-Kozhikode District
B:-Thrissur District
C:-Wayanad District
D:-Kannur District
Correct Answer:- Option-C
Question98:-Which among these is a cycle racing event?
A:-The Super Bowl
B:-The Australian Open
C:-The Tour de France
D:-The Indianapolis 500
Correct Answer:- Option-C
Question99:-Which among this was the first municipal corporation in India?
A:-Madras
B:-Bombay
C:-Delhi
D:-Kolkata
Correct Answer:- Option-A
Question100:-Who painted the famous painting “The Starry Night”?
A:-Pablo Picasso
B:-Vincent van Gogh
C:-Claude Monet
D:-Salvador Dali
Correct Answer:- Option-B
Question101:-What is the capital of Australia?
A:-Sydney
B:-Melbourne
C:-Canberra
D:-Perth
Correct Answer:- Option-C
Question102:-Who was the first Indian woman to win an Olympic medal?
A:-Karnam Malleswari
B:-P.T. Usha
C:-Sania Mirza
D:-Saina Nehwal
Correct Answer:- Option-A
Question103:-Where is the Satish Dhawan Space Center located?
A:-Bangalore, Karnataka
B:-Balasore, Odisha
C:-Sriharikota, Andhra Pradesh
D:-Thumpa, Kerala
Correct Answer:- Option-C
Question104:-Which of the following countries is NOT a member of the Shanghai Cooperation Organisation (SCO)?
A:-India
B:-Pakistan
C:-Iran



D:-Japan

Correct Answer:- Option-D
Question105:-Who recently became the youngest-ever senior world champion at 17 years and secured India’s first-ever individual title at the World Archery
Championships ?

A:-Deepika Kumari

B:-Aditi Swami

C:-Bombayla Devi Laishram

D:-Dola Banerjee

Correct Answer:- Option-B
Question106:-Find the missing number in the series 2, 6, 14, 30, ? , 126

A:-63

B:-73

C:-62

D:-95

Correct Answer:- Option-C
Question107:-John has 12 red pencils and 15 blue pencils. He wants to bundle them into groups of the same size, with no pencils left over. What is the largest number of
pencils that can be in each bundle?

A-1

B:-3

C:-5

D:-6

Correct Answer:- Option-B
Question108:-A shoe seller has 1000 shoes in his shop. He wants to arrange them in a rack in such a way that the number of rows and columns remains the same. What
is the minimum number of shoes that he needs more for this purpose?

A:-24

B:-32

C:-34

D:-14

Correct Answer:- Option-A
Question109:-Average ages of Ram and Manohar is 15, average ages of Manohar and Shyam is 12 and average ages of Ram and Shyam is 13, then the age of
Manohar is?

A:-13

B:-16

C:-14

D:-12

Correct Answer:- Option-C
Question110:-Arjun and Kiran friends recieve a bonus of Rs 2000 each in their bank accounts. They already have Rs. 47,000 and Rs. 54,000 in their respective bank
accounts. Ratio of the amounts in their bank accounts after bonus will be?

A:-7:8

B:-7:9

C:-8:9

D:-6:8

Correct Answer:- Option-A
Question111:-In a class of 40 students and 5 teachers, each student got sweets that are 15% of the total number of students and each teacher got sweets that are 20%
of the total number of students. How many sweets were there.

A:-240

B:-280

C:-320

D:-360

Correct Answer:- Option-B
Question112:-A shopkeeper sold an article for Rs 3750. If he had charged 24% less, even then he would have earned a profit of 14%. What is the original cost of the
article

A:-2850

B:-2717

C:-3289

D:-2500

Correct Answer:- Option-D
Question113:-The difference of simple interest from two banks for Rs. 1000 in 2 year is Rs 20. Find the difference in rates of interest

A-2%

B:-1%

C:-1.50%

D:-2.50%

Correct Answer:- Option-B
Question114:-Srishti and Anuj started a business investing amounts of 1,85,000 Rs and 2,25,000 Rs respectively. If Anuj's share in profit earned by them is Rs. 9000,
then what is the total profit earned by them together?

A:-Rs. 17400

B:-Rs 16400

C:-Rs 16800

D:-Rs 17800

Correct Answer:- Option-B
Question115:-300 gram of sugar solution has 40% of sugar by weight in it. How much sugar should be added to make it 50% in the solution?

A:-80 g

B:-60 g

C:-120 g

D:-40 g

Correct Answer:- Option-B
Question116:-A can do a work in 20 days and B can do in 10 days. A starts the work and works alone for 5 days. Then B joins A and they finish the work. In how many
days total does the work gets finished?

A:-10

B:-12

Cc:-9

D:-8

Correct Answer:- Option-A



Question117:-A truck covers a distance of 368 km at a certain speed in 8hrs. How much time would a car take at an average speed which is 18 km/h more than that of
the the speed of the truck to cover a distance which is 16 km more than that traveled by the truck?
A:-7 hrs
B:-5 hrs
C:-6 hrs
D:-8 hrs
Correct Answer:- Option-C
Question118:-Pipe A when open alone can fill the tank in 20 hours . Pipe B when open alone can fill the tank in 10 hours. When A,B, and C are open together tank will be
full after 7.5 hours. How many hours will be taken by pipe C when open alone to empty the full tank?
A:-30 hours
B:-45 hours
C:-60 hours
D:-90 hours
Correct Answer:- Option-C
Question119:-Select the letter cluster from among the given options which can replace the question (?) mark : BDF, CFI, DHL, ?
A:-EJO
B:-CIJM
C:-EML
D:-EMI
Correct Answer:- Option-A
Question120:-Select the option that is related to the third word in the same way as the second word is related to the first word.

Lawyer: Judge:: Actor: ?

A:-Crowd

B:-Director

C:-Stage

D:-Audience

Correct Answer:- Option-D
Question121:-In the following question, which one of the following responses would be a meaningful order of the following:
1. Smash
2. Rally
3. Serve
4. Celebrate
5. Score

A-4,1,2,3,5
-3,2,1,5,4
-2,3,1,4,5

,
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B:
C:
D:-3,1,4,2,5
Correct Answer:- Option-B
Question122:-From the given alternatives, select the word which cannot be formed using the letters of the given word: TECHNOLOGY
A:-Echo
B:-Tone
C:-Slog
D:-Honey
Correct Answer:- Option-C
Question123:-A man goes 5 km east, then he turns right and goes 4k, then he turns left and goes 5 km. Which direction is he facing now?
A:-North
B:-South
C:-East
D:-West
Correct Answer:- Option-C
Question124:-In a gathering seven members are sitting in a row. C is sitting to the left to B but on the right to D, A is sitting right of B, F is sitting right of E but left to D. H
is sitting left to E. Find the person sitting in the middle.
A-C
B:-D
C:-E
D:-F
Correct Answer:- Option-B
Question125:-In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements?

y Ly Ay

Statements:
1. No mirrors are glass
2. No reflective are mirrors
Conclusions:
I. All glass are reflective
1. All reflective are glass
A:-Only conclusion | follows
B:-Only conclusion Il follows
C:-Neither conclusion I nor Il follows
D:-Both conclusions follow
Correct Answer:- Option-C
Question126:-In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be at
variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements?

Statements:
1. All apples are oranges
2. Some oranges are papayas

Conclusions:

I. Some apples are papayas

Il. Some papayas are oranges
A:-Only conclusion | follows
B:-Only conclusion Il follows



C:-Neither conclusion | nor Il follows
D:-Both conclusions follow
Correct Answer:- Option-B
Question127:-Read the given statements and conclusions carefully and decide which of the conclusions logically follow(s) from the statements.

Statements:
1. AIDS is a killer disease
2. It is easy to prevent AIDS than to treat it

Conclusions
I. AIDS prevention is very expensive
1. People will not cooperate for AIDS prevention
A:-Only conclusion | follows
B:-Only conclusion Il follows
C:-Neither conclusion | nor Il follows
D:-Both conclusions follow
Correct Answer:- Option-C
Question128:-If January 1 is a Friday, what is first day of the month of March in a leap year?
A:-Wednesday
B:-Thursday
C:-Tuesday
D:-Friday
Correct Answer:- Option-C
Question129:-By looking in a mirror it appears that is 6:30 in the clock. What is the real time?
A:-6:30
B:-6:40
C:-5:00
D:-5:30
Correct Answer:- Option-D
Question130:-Showing a man, a woman said : "His brother's father is the only son of my grandfather". How is the woman related to the man?
A:-Aunt
B:-Sister
C:-Daughter
D:-Mother
Correct Answer:- Option-B
Question131:-Which factor does a country prioritize when granting Most Favored Nation (MFN) status to another country?
A:-Increasing trade with that country.
B:-Strengthening military relations.
C:-Enhancing cultural relations.
D:-Facilitating people-to-people contact.
Correct Answer:- Option-A
Question132:-What does the principle of territorial integrity in International Law signify?
A:-The security and inviolability of a state's boundaries.
B:-A state's interference in the internal affairs of other states.
C:-A state's non-interference in the affairs of other states.
D:-None of the above options
Correct Answer:- Option-A
Question133:-Principle of "Jus Soli" is associated with?
A:-Immigration
B:-Extradition
C:-Asylum
D:-Citizenship
Correct Answer:- Option-D
Question134:-What does the phrase "pacta sunt servanda" imply?
A:-Treaties must be respected and upheld.
B:-Treaties serve as a foundation for International Law.
C:-Treaties are legally binding agreements.
D:-Treaties possess validity within the realm of International Law.
Correct Answer:- Option-A
Question135:-Which crimes were specifically addressed by the Hague Convention of 1970?
A:-Genocide and crimes against humanity
B:-Cyber crimes and digital security
C:-lllicit trafficking of cultural property
D:-Hijacking of Aircrafts
Correct Answer:- Option-D
Question136:-Immanuel Kant was an exponent of which of the following theories of punishment?
A:-Retributive Theory
B:-Preventive Theory
C:-Deterrent Theory
D:-Reformative theory
Correct Answer:- Option-A
Question137:-The term "Ultra vires" mean
A:-Inside the powers
B:-Judicial powers
C:-Within fundamental rights
D:-Outside the powers
Correct Answer:- Option-D
Question138:-Which term describes a matter that is pending before a court?
A:-Res judicata
B:-Estoppel
C:-Inquest
D:-Res subjudice
Correct Answer:- Option-D



Question139:-Concept of 'Dialectical Materialism' is a associated with:
A:-Liberalism
B:-Utilitarianism
C:-Marxism
D:-Post Modernism
Correct Answer:- Option-C
Question140:-A legal principle that prevents the same case or issue from being re litigated between the same parties once a final judgment has been reached.
A:-Estoppel
B:-Res judicata
C:-Precedent
D:-Preemptoray Plea
Correct Answer:- Option-B
Question141:-What is a person called who takes legal proceedings against the accused on behalf of the state?
A:-Plaintiff
B:-Prosecutor
C:-Lawyer
D:-Appellant
Correct Answer:- Option-B
Question142:-Joint session of the parliament is presided by
A:-The Vice President
B:-The President
C:-The Speaker of Lok Sabha
D:-The Prime Minister
Correct Answer:- Option-C
Question143:-Supreme Court of India can decide disputes between States and the Centre under its
A:-Original jurisdiction
B:-Appellate jurisdiction
C:-Advisory Jurisdiction
D:-Epistolary Jursidction
Correct Answer:- Option-A
Question144:-Who administers oath to Chief Justice of the Supreme Court?
A:-Speaker of Lok Sabha
B:-Prime Minister of India
C:-President of India
D:-Previous Chief Justice
Correct Answer:- Option-C
Question145:-Fundamental rights are dealt in
A:-Part Ill of the Constitution
B:-Part IV of the Constitution
C:-Part V of the Constitution
D:-Part VI of the Constitution
Correct Answer:- Option-A
Question146:-Article 343 of the Indian Constitution deals with:
A:-Official language of the Union
B:-Protection of linguistic minorities
C:-National Language of the Union
D:-Administrative Language of the Union
Correct Answer:- Option-A
Question147:-From which country's constitution was the Directive Principles of State Policy in India based on?
A:-Britain
B:-Germany
C:-France
D:-Ireland
Correct Answer:- Option-D
Question148:-How is the Vice-President of India elected?
A:-By direct popular vote
B:-By members of Lok Sabha only
C:-By members of Lok Sabha and Rajya Sabha
D:-By members of Lok Sabha, Rajya Sabha and State Assemblies
Correct Answer:- Option-C
Question149:-Which of the following is not within the jurisdiction and purpose of the International Criminal Court (ICC)?
A:-Prosecuting Crimes against Humanity
B:-Prosecuting Genocide
C:-Prosecuting War Crimes
D:-Prosecuting International Corporate Frauds
Correct Answer:- Option-D
Question150:-Which of the following options is NOT considered an intellectual property?
A:-Trademark
B:-Patent
C:-Real Estate
D:-Geographical indications.
Correct Answer:- Option-C
Question151:-The Latin phrase "Ignorantia juris non excusat" means:
A:-Ignorance of the law is a valid excuse.
B:-Ignorance of the law is not a valid excuse.
C:-lgnorance of the law can be considered as a partial excuse.
D:-Ignorance of the law is only applicable in certain circumstances.
Correct Answer:- Option-B
Question152:-Which theory works with the dictums "you cannot cure by killing" and "Crime is like a disease"?
A:-Deterrence Theory
B:-Retributive Theory
C:-Reformative Theory



D:-Compensation Theory
Correct Answer:- Option-C
Question153:-Which of the following means that the prosecution has to prove the charge against the accused in criminal cases?
A:-Judicial review
B:-The margin of appreciation
C:-Burden of proof
D:-Devolution
Correct Answer:- Option-C
Question154:-The company's nationality is decided by its
A:-Residence of majority shareholders
B:-Registered office
C:-Place at books of accounts are kept
D:-None of the above
Correct Answer:- Option-B
Question155:-Which of the following statements accurately reflects the provision mentioned in the Constitution of India?
A:-The Supreme Court shall have a maximum of 34 judges, including the Chief Justice.
B:-The Supreme Court shall have a minimum of 34 judges, including the Chief Justice.
C:-The Supreme Court shall have an unlimited number of judges
D:-The Constitution of India does not specify the maximum number of judges in the Supreme Court
Correct Answer:- Option-A
Question156:-Which of the following rights is not a fundamental right?
A:-Right to Freedom
B:-Right to Property
C:-Right to Religion
D:-Right to Equality
Correct Answer:- Option-B
Question157:-What does the term "adjudication” mean in a legal context?
A:-The process of initiating a lawsuit.
B:-The act of settling a legal dispute outside of court.
C:-The process of settling a legal case through the justice system.
D:-The legal document that initiates a criminal prosecution.
Correct Answer:- Option-C
Question158:-What does the term "dejure” mean?
A:-Exceptions to be made in specific cases.
B:-Act of formally presenting evidence in a court of law.
C:-Thing that is established according to the law
D:-Act of appointing a legal representative to handle a case.
Correct Answer:- Option-C
Question159:-Assertion (A): Fundamental Rights in the Indian Constitution are not absolute.

Reason (R): The Indian Constitution provides for reasonable restrictions on Fundamental Rights in the interest of public order, morality, and national security.

Please select the appropriate option for the given statements:
A:-Both A and R are true and R is the correct explanation of A.
B:-Both A and R are true but R is not the correct explanation of A.
C:-Ais true but R is false.
D:-Ais false but R is true.
Correct Answer:- Option-A

Question160:-Choose the correct option

(1) There are some wrongful acts which come under Civil and Criminal Law both.

(2) Both Criminal and Civil cases can be proved on a balance of probabilities
A:-Only (1) is true
B:-Only (2) is true
C:-Both (1) and (2) are true
D:-Both (1) and (2) are false
Correct Answer:- Option-A
Question161:-Intestate Succession determines the mode of devolution of the property based on the rules of inheritance when a person dies without a
A:-Legal Heir
B:-Executor
C:-Testamentary Will
D:-Probate
Correct Answer:- Option-C
Question162:-Choose the correct option based on the statements given:

Statement (1) ‘Nemo judex in causa sua’. means to hear the other party or no one should be condemned unheard

Statement (2) 'Audi alteram partem’ means no one should be made a judge in his own cause and the rule against bias.
A:-Only (1) is true
B:-Only (2) is true
C:-Both (1) and (2) are true
D:-Both (1) and (2) are false
Correct Answer:- Option-D
Question163:-The jurisdiction of a court, refers to the power or the extent of the authority, of the court to administer justice, with reference to
A:-the local limits
B:-the subject matter of litigation
C:-the pecuniary value
D:-all of the above
Correct Answer:- Option-D
Question164:- is the principle allowing a state to act in ways that would normally be illegal in emergency or exigent circumstances:
A:-Principle of Legality
B:-Doctrine of Necessity



C:-Rule of Law
D:-Doctrine of Proportionality
Correct Answer:- Option-B
Question165:-In the following situation, what offense can be attributed to Ramu?

Ramu ascends to the top of a building and threatens to jump off, but is prevented from doing so.
A:-Cheating
B:-Attempt to murder
C:-Attempt to suicide
D:-No offense
Correct Answer:- Option-C
Question166:-Choose the correct option bsed on the statements below:

Statement 1: Summons case are cases relating to an offences punishable with imprisonment of less than three years.

Statement 2: In summons cases, the magistrate holds a regular trial only after framing the charge.
A:-Only statement 1 is true
B:-Only statement 2 is true
C:-Both statements are true
D:-Both statements are false
Correct Answer:- Option-D
Question167:-Choose the correct option bsed on the statements below:

Statement 1: A crime is a deliberate or reckless act that causes harm to another - either to his/ her person or to his/her property.

Statement 2: In Criminal Law, an individual may report a crime but can never file a case against another individual, only the government can file the case against the
offender.

A:-Only statement 1 is true

B:-Only statement 2 is true

C:-Both statements are true

D:-Both statements are false

Correct Answer:- Option-A
Question168:-Situation: Shyam is a police officer is executing a warrant of arrest against Vijay. Shyam asks Hari to identify "Mr. Vijay". Hari delibrately tells Shyam that
Ram is "Vijay" and consequently Ram is arrested.

What is the offence committed by Hari?
A:-Abetment by Instigation
B:-Abetment by Aiding
C:-Abetment by False representation
D:-Abetment by Mischief
Correct Answer:- Option-C
Question169:-Which among the following is difference between a tort and a crime?
A:-Tort is an infringement of the private right belonging to an individual. A crime is an invasion of public rights or duties affecting the whole society.
B:-In tort, the civil action is brought by the injured party himself in the civil court; where as in crime, the proceedings are taken and conducted in the name of the
state in criminal court.
C:-In tort, the wrongdoer has to pay damages to the injured party. In crime, he is punished by the state and the fine imposed on him goes to Government treasury.
D:-All of the above
Correct Answer:- Option-D
Question170:-Which of the following disputes can be resolved through Alternative Dispute Resolution (ADR)?
A:-Matters involving criminal questions, or question of public laws.
B:-Matrimonial matters, like divorce, maintenance or custody of child.
C:-Cases involving recovery of money.
D:-Dissolution of an incorporated Company
Correct Answer:- Option-C
Question171:-Consider the following statements:

1. Any retired judge of the Supreme Court of India can be requested to act as a Judge of the Supreme Court the Chief Justice of India with prior permission of the
President of India.

2. A High court in India has the power to review its own judgement as the Supreme Court does.

Which of the statements given above is/are correct?
A:-1 only
B:-2 only
C:-Both 1 and 2
D:-Neither 1 nor 2
Correct Answer:- Option-C
Question172:-Choose the correct option:

(1) The National Security Act allows the state to detain a person without a formal charge and without trial to prevent them from acting in any manner prejudicial to the
security of the state or for the maintenance of public order.

(2) The Indian Constitution allows both preventive detention and the right of protection against arrest and detention in certain cases, as stated in Article 22.

(3) Article 22(3) of the Indian Constitution states that the rights available to an arrested person are not applicable in the case of preventive detention
A:-Only (1) and (2) are true
B:-Only (2) and (3) are true
C:-Both (1) and (3) are true
D:-(1), (2) and (3) are true
Correct Answer:- Option-D
Question173:-Choose the correct option based on the statements given:

(1) Procedure Established by Law is a principle which states that a law is considered valid if it has been properly enacted by the relevant authority, following the correct
procedure. Where as Due Process of Law is a concept ensures that any law in question is fair and not arbitrary.



(2) It was in the case of A. K. Gopalan vs State of Madras, the Supreme Court of India determined that the phrase "procedure established by law" does not refer to any
arbitrary procedure set by the Parliament. Instead, it should be interpreted in line with the "due process" , which emphasizes fairness and the protection of fundamental
rights.
A:-(a) Only (1) is true
B:-(b) Only (2) is true
C:-(c) Both (1) and (2) are true
D:-(d) Both (1) and (2) are false
Correct Answer:- Option-A
Question174:- is the Latin term that signifies 'to stand by past decision or precedents and not to disturb the settled points'?
A:-Habeas Corpus
B:-Stare Decisis
C:-Pro Bono
D:-Res Ipsa Loquitur
Correct Answer:- Option-B
Question175:-The branch of law that regulates the organization and functioning of the State and determines the relationship of the State is known as
A:-Civil law
B:-Substantive law
C:-International law
D:-Public law
Correct Answer:- Option-D
Question176:-Choose the correct option based on the statements given:

1. Indian Judiciary is a single integrated and unified system of Courts for the Union as well as the States.

2. Article 131 gives both the Supreme Court and High Courts the original jurisdiction in a dispute between between one State and another, or between a group of States
and others.

A:-Only (a) is true

B:-Only (b) is true

C:-Both (a) and (b) are true

D:-Both (a) and (b) are false

Correct Answer:- Option-A
Question177:-There are various wrongs that find their place both under criminal law and the law of torts.

These wrongs are
A:-assault, defamation and negligence.
B:-assault, defamation, negligence, conspiracy and nuisance.
C:-assault, defamation, negligence and conspiracy
D:-defamation, conspiracy and negligence.
Correct Answer:- Option-B
Question178:-Which of the following is not a true statement in the context of Transfer of Property Act.
A:-The property that is going to be transferred should be free from encumbrances
B:-In a transfer of property, the transfer should be between two or more living persons.
C:-The transfer may be an unlawful object or an unlawful consideration
D:-The transferor who transfers the property must be entitled to the transferable property
Correct Answer:- Option-C
Question179:-A characteristic of a valid 'Custom’ in jurisprudence is
A:-Non conformity
B:-Continuity
C:-Modernity
D:-Uncertainty
Correct Answer:- Option-B
Question180:-Correct order of stages of crime are
A:-Commission, Intention, Preparation, Attempt
B:-Intention, Preparation, Attempt, Commission
C:-Preparation, Commission, Intention, Attempt
D:-Intention, Preperation, Commission, Attempt
Correct Answer:- Option-B
Question181:-Lapsed gift means a gift in which a person whose favour a will was created dies......
A:-Before the death of his legal hier
B:-After the death of his legal hier
C:-Before the death of the testator
D:-After the death of the testator
Correct Answer:- Option-C
Question182:-Interlocutory Application is a petition seeking:
A:-Final judgment and resolution of a case
B:-Revision of a court's decision
C:-Temporary relief during the pendency of a case
D:-Dismissal of a case without trial
Correct Answer:- Option-C
Question183:-A confession made voluntarily by an accused person in a court of law under Section 164 of the CrPC is called
A:-Coerced confession
B:-Witness confession
C:-Judicial confession
D:-Retracted confession
Correct Answer:- Option-C
Question184:-What is vicarious liability?
A:-Liability imposed on a person for their own intentional wrongdoing
B:-Liability imposed on an employer for the wrongful actions of their employees
C:-Liability imposed on a person for their negligence in fulfilling a duty of care
D:-Liability imposed on a person for their involvement in a criminal offense
Correct Answer:- Option-B
Question185:-What does the term "restitution” refer to?
A:-The punishment imposed on a defendant for a criminal offense



B:-The act of the restoration of something lost or stolen to its proper owner
C:-The process of resolving disputes through negotiation and compromise
D:-The legal document that initiates a lawsuit or legal action
Correct Answer:- Option-B
Question186:-Ramu keeps his mobile inside the bag of Sheela, with the intention that it maybe found in the bag and the circumstance leading to Sheela being convicted
of theft. Ramu has committed the offence of:
A:-Fabricating evidence
B:-Theft
C:-Conspiracy
D:-Obstruction of justice
Correct Answer:- Option-A
Question187:-Name of Union given in the Constitution is
A:-India i.e. Hindustan
B:-India i.e. Bharat
C:-Hindustan i.e. Bharat
D:-India i.e. Bharatvarsha
Correct Answer:- Option-B
Question188:-Term used to describe an accused who seeks pardon from the court by agreeing to testify against all others involved in the crime is
A:-Accomplice
B:-Informant
C:-Co-conspirator
D:-Approver
Correct Answer:- Option-D
Question189:-The communication of a proposal considered is complete when it is
A:-Accepted by the intended recipient
B:-Is in course of transmission
C:-Sent by the proposer
D:-Comes to the knowledge of the intended recipient
Correct Answer:- Option-D
Question190:-Choose the correct answer based on following statements:

1. All void contacts are not necessarily illegal

2. All illegal contracts are void
A:-Only (1) is true
B:-Only (2) is true
C:-Both (1) and (2) are true
D:-Both (1) and (2) are false
Correct Answer:- Option-C
Question191:-Power to grant pardon is a/an power
A:-Quasi Judicial
B:-Judicial
C:-Legislative
D:-Executive
Correct Answer:- Option-D
Question192:-Legal term for a right or claim that is enforceable against a particular thing or property rather than against a specific person
A:-Rightin rem
B:-Right in personam
C:-Locus standi
D:-Fundamental Right
Correct Answer:- Option-A
Question193:-Ownership does not connote
A:-Right to use and enjoy
B:-Right to Destroy
C:-Right to Dispossess
D:-Right to Possess
Correct Answer:- Option-C
Question194:-Mr. Hariharan professes to gift his property at Calicut worth Rupees 1 lakh to Ms. Shyamala and by the same instrument another property at Kochi for
Rupees 5 lakh/-. As Ms. Shyalmala can stay only at one place among the two:
A:-She may retain the property at Calicut and reject the transfer of property at Kochi.
B:-She has to retain the property at Kochi if she wants to retain the property at Calicut
C:-Both Option 1 and Option 2 are true
D:-Both Option 1 and Option 2 are false
Correct Answer:- Option-B
Question195:-According to the Montevideo Convention of 1933, what are the essential requirements for a state?
A:-A state must possess a permanent population, defined territory, government, and the capacity to enter into relations with other states.
B:-A state must have a defined territory and government, but the permanent population and capacity to enter into relations are not required.
C:-A state must have a permanent population and defined territory, but the government and capacity to enter into relations are not necessary.
D:-A state must have the capacity to enter into relations with other states, but the permanent population, defined territory, and government are not essential.
Correct Answer:- Option-A
Question196:-W hich motion allows for a full discussion on an important and urgent issue in Parliament?
A:-Adjournment Motion
B:-Calling Attention Motion
C:-Half an Hour Discussion
D:-No Confidence Motion
Correct Answer:- Option-A
Question197:-What actions can the Parliament undertake based on the powers specified in Articles 2 and 3 of the Constitution?
A:-Admit new territories as new state of India
B:-Split or merge existing Indian states
C:-Alter the names and boundaries of existing Indian States
D:-All of above
Correct Answer:- Option-D



Question198:-The National Commission for Protection of Child Rights (NCPCR) is a, in India with the objective to ensure that all policies, programs, and

administrative mechanisms are aligned with the perspective of child rights, as stated in the Indian Constitution and the UN Convention on the Rights of the Child.
A:-Tribunal

B:-Statutory body

C:-Constitutional body

D:-Regulatory body

Correct Answer:- Option-B
Question199:-Which of the following is NOT a tort?

A:-Negligence

B:-Battery

C:-Trespass to land

D:-Breach of contract

Correct Answer:- Option-D
Question200:-Which of the following is the most important principle underlying the writ of habeas corpus?

A:-The right to a fair trial

B:-The right to be free from arbitrary detention
C:-The right to due process of law

D:-The right to be represented by counsel
Correct Answer:- Option-B



